ObliczRobot

PIKIETAZ

0,00
20,67
62,06
90,77

118,52
143,81
165,84
206,27
266,12
306,36
327,25
360,91

403,01

POWIERZCHNIE[m2]

NASYP WYKOP
1,86 2,11
1,00 0,38
0,00 7,33
0,00 4,97
0,00 3,25
1,08 1,32
0,48 1,90
9,57 0,88
0,15 1,59
9,36 2,88
0,42 1,46
1,31 9,28
0,00 2,55

ODLEGEOSC

[m]

20,67
41,39
28,71
27,75
25,29
22,03
40,43
59,85
40,24
20,89
33,66

42,10

OBJETOSCI[m3]
NASYP WYKOP
29,50 25,77
20,68 159,49

9,03 176,57

9,03 114,09
13,64 57,79
17,15 35,48
21,31 56,20
21,81 74,05
10,37 90,08

8,17 45,35
29,20 29,29
27,69 59,55

ZUZYCIE

NA MIEJSCU NADMIAR(*) BILANS

25,77
20,68

09,03

09,03
13,64
17,15
21,31
21,81
10,37

8,17
29,20

27,69

Strona 1

-3,73
138,82
176,54
114,06
44,15
18,33
34,89
52,25
79,71
37,18
0,09

31,86

0,00
-3,73
135,09
311,63
425,69
469,84
488,17
523,06
575,31
655,01
692,20
692,29

724,15



ObliczRobot
22,58 1,31 57,30 1,31 55,99

RAZEM 200,88 981,02 197,15

Nadmiar WYKOP 780,14m3

(*) - wartos$ci ujemne NASYP, dodatnie WYKOP
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